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New words and expressions

booth [bu:@] »n. HiEFZE

represent [ri:pri'zent] » U3, R1F

a historical era Jj S A #H

tongue [tap]l n FH3k

throat [Orout] ». BT

make an appointment with sb. 5% A#iZy
is due FUHEY, BHH

fix [fiks] » & (H#)

be supposed to do sth. i iZfHIHEE
schedule ['skedzull ». HF2F, BHEFE
have a loose schedule HBZEHERH
accompany [o'kamponi] ». BEfE

relative [‘relotiv] n. FEB

apartment [o'pa:tmont] ». AE, BITHE
for confirmation FHLIUESE, #iA
regular ['regjulo] «dj. ¥R, LB
once in a while B4

flute [flu:t] » HTF

typical ['tipikol] adj. SRFUAY

people my age HXFEERIA

F—T Cts /M G/AVE L 55, %5 7.55)

3

) 1. What is the stranger looking for?
A. A person who can speak English.
B. A telephone booth.
C. A post office.

) 2. Why does the teacher first ask Webster to come to the front to punish him while

later let him go with a smile?
A. Because he is on duty today.




B. Because of Webster’s quick and humorous (K4¥KAY) mind.
C. Because his hands are dirty. :
( ) 3. What is the striking news in today’s newspaper?
A. Someone’s mother died last night.
B. Britain’s Queen Mother passed away.
C. There happened an important event in the world.
( ) 4. Johnnie wants to have
A. something to drink
B. some ice-cream
C. fruit juice
( ) 5. Accoding to the boy, the girl should first
A. come to help him
B. work on the computer
C. learn to operate a computer patiently

B Gt 15/ B/ L5 4, W5 22.540)

Wik 6 B#tEl, REEE 6-7 @, HiEHERNERBHEEHLE,
( ) 6. What does Myra come here for?

A. To meet the director.
B. To have a meeting.
C. To wait for the director.
() 7. The meeting with the director is due
A. at 3 o’clock, May 15th
B. in the morning
C. in a minute or two
D. none of the above

Myra is here to (6)

The time for the appointment is fixed at (7)




WTsE 7 BR#FH, REH SO MERNERBELHMME,

On the (8) day, the man would first stay in a and then
nearby.

The man has planned to visit his relatives and stay with them (9)

s 8 AT HE, PARRIEE 10-12 &,
( ) 10. What does the woman want to do?
A. To find Mary’s telephone number.
B. To ask the man a question.
C. To pass Mary a letter.
( ) 11. Mary’s telephone number is
A. 6502-9784.
B. 6502-9874.
C. 6520-9874.
( ) 12. Her address is .
A. No. 145, Jianguomen Wai Street.
B. NO. 154, Jianguomen Street.
C. No. 145, Jianguomen Street.
WrsE o B, PAIGIEIE 13-16 B,
( ) 13. Most probably the speaker is
A. a teenager
B. a person more than thirty
C. quite old a person
( ) 14. It seems that the speaker doesn’t like to go to school because she says

A. she forces them to go to school

B. they are forced to go to school

C. she was usually forced to go to school
( ) 15. The girl likes to and write stories and poems.

A. read, talk on the phone, listen to music, play the flute and piano

B. read, go to the cinema, listen to music, play the flute

C. play games, go to the cinema, listen to music, play the flute
( ) 16. She could spend her time with her family

A. on ordinary week days

B. during weekends

C. on Sundays



TSR 10 B4 El, RAEEIZ 17-20 8,

(

(

(

(

) 17. How did Mr. and Mrs. Jones get to the cinema?
A. By bike.
B. On foot.
C. In their own car.
) 18. When did the film finish?
A. At 11 in the morning.
B. Late in the evening.
C. Right after dinner time.
) 19. What did Mr. and Mrs. Jones see on the way home?
A. A man was running after a woman.
B. A woman was running after a man.
C. A woman shouted for help.
) 20. When and why did the man and the woman run so fast?

A. Before they saw a film; because they had a young baby to look after at
home.

B. Before the film ended; because they didn’t want to be considered
inefficient (FCRERY, /).

C. After seeing a film they began the running race; because neither of them
wanted to wash dishes at home.



New words and expressions
weather forecast KWk
shower ['faual ». FETH

the lowest temperature F{E18 &

flu [flu:] n HER

in one’s own way LI HC R

bear [bea] v &%

generation gap {14

attitude [-@titjurd] n. ZSEF

life style AEJEH R

exist [ig'zist] ». F#7E

gloomy [-glurmil «dj. FAUTAEY, BAREHY
dusty ['dasti] «di. 48, 18
monster ['monsta] n. Y, K&
meet with &L, il B

sandstorm ['sendstoxm] n YR
layer ['leia] n. (—)2

odd [od] «dj R

surrounding [so'raundin] » IREE, &t
necessity [ni'sesiti] . LB
environment [in'vaioromont] ». 1%
protection [pro'tekfnl n R
excessive [ik'sesiv] adj. B, T8
take notes BEiC

gradually ['gredjucli] adv. ZEHTH:
diligent ['dilidzont] odj. E1EFH

smart [sma:t] od. FEEHH

usage ['juisidz] n. FHEE
communicative function 3ZHAEH



F—F Gts5/ME; BAVE .54, WA T7.540)

( ) 1. According to Evening Weather Forecast what’s the weather tomorrow?
A. There will be a shower in the morning.
B. The temperature will be five degrees below zero.
C. There will be wind, a shower and the temperature will be low.
( ) 2. Why does the man go and see a doctor ?
A. Something’s wrong with his nose.

B. He cant open his mouth.
C. He has got a cold.
( ) 3. Why does Tom think that the moon is nearer to us than England?
A. Because, he says, what he can see is only the moon.
B. Because, he says, he doesn’t know where England is.
C. Because he can see neither the moon nor England.
( ) 4. The mobile phone (F#L) number of the guest is
A. 13901178449
B. 13091187449
C. 13901178994
( ) 5. Susan is invited to a party for
A. dinner
B. dancing
C. the girl’s birthday

FA Gt 15 /ME: 5/ 154, o 22.55)

WSk 6 BRFTEl, AREE 6-7 8,

( ) 6. Michael .
A. was playing soccer (/£3K) when something happened
B. was listening to something when other boys were playing soccer
C. hurt himself when playing soccer



( ) 7. He hurt himself
A. in the arm
B. on one of his ears
C. in the leg
U7 7 E#e, AREIE 8-9 &,
( ) 8. What troubles the father is that his son
A. is not willing to listen to him
B. always goes in his own way
C. is digging (3Z.4#) a gap at home
( ) 9. “Generation gap” is natural according to the teacher. It exists
A. only among young people
B. between old generation and young generation
C. mostly among old generation
U5 8 B, SRIGEIE 10-12 B,
( ) 10. “Monster” in the dialogue refers to (FF#g IR+ - )
A. the wind force
B. sandstorm
C. a thick layer of dust
( ) 11. The wind force today is , according to the lady.
A. 5-6
B. 6-7
C. 89
( ) 12. In the end of the dialogue the lady concludes that
A. the bad weather will continue for another day or two
B. even inside the room, the odd, dusty air could still be felt
C. it is important to protect our environment
Wrss 9 B#r#t, sRISEE 13-16 &,
( ) 13. When asked about his feelings teaching English in China, the man says:
“Hard to say. ~ What does it mean?
A. The man meets certain problems in teaching.
B. He doesn’t know for sure what to answer.
C. It is very hard to encourage his students to speak English.
( ) 14. According to the man’s opinion, some students
A. pay too much attention to grammar
B. never pay attention to grammar
C. don’t pay enough attention to grammar



( ) 15. The woman tells the man that
A. when she first came here she also met with the same problem
B. when she first came here her students never did the same as the man’s
students do
C. it is her first time to hear students could study in such inefficient way
( ) 16. The woman is satisfied with her students because she finds that Chinese stu-
dents are
A. hard-working and clever
B. could understand the teacher’s arrangement(ZHE)
C. don’t know the communicative function of language at all
R 10 B4, AISEE 17-20 &, | |
( ) 17. What was Pat Hogan doing that evening?
A. Driving home.
B. Looking for a hotel.
C. Traveling around the country.
( ) 18. Where did Pat want to stay that night?
A. In the Sun Hotel.
B. In his own home.
C. In his friend’s house.
( ) 19. Why didn’t the old man stop Pat when they passed the hotel?
A. He didn’t see the hotel.
B. He forgot to stop Pat.
C. He wanted to get home.
( ) 20. How far is the old man’s house to the hotel?
A. Nine miles.
B. Twelve miles.
C. Three miles.



New words and expressions

air crash 25 MEZ IR

South Korea B8

survive [sorvaiv] o ZEFF, 47
passenger ['paesindza] n FHE
rescue ['reskjuil » 1B

on board 7E (&AL M) b

alive [o'laiv] odi THEFR
compose a home page of FEI: - HIR TR
frankly speaking 8532 Hiik,

captain [ kaeptin] »n MK, YLK
assign [o'sain] » 43EC, FBIK
visa ['viizo] n ZiE; A EHF

" transportation [trenspo:teifn] ». 3ZiEiz

extra ['ekstra] adj. HHIMAY

beneficial [beni-fifll odj A FIR

climate ['klaimit] n %

expert [ekspa:t] n. EFR

opposite [-opozit] odj. XITH

cigarette [sigo'ret] n FH1H

tobacco [to-bakoul] n fHEL

congratulate [kon'greetjuleit] » W, HEF

F—T Gt 5 /VE; VB L 558, W T.55)

(

(

) 1. How many people had been on board?
A. 166.
B. 166 plus 50.
C. 50 in all.

) 2. What is the use of the home page as the boy tells his mother?

A. For a place to do the homework.




